Quiz 2 MATH 221 Section: Instructor: James Cook

Name: Date:

Instructions: Cive exact answers unless otherwise directed. Show all work, presenting a clear, logical solution to
each problem. (just write the answers on this page, put your work on additional pages written neatly and in order,
thanks!)| Box answers | Due 2-14-17 start of class.

(1) Find the solution set for the system of equations given below:

1 + 220 + 33 + x4 = 10
T3+ 3z4 =28
z1— 229+ x4 =6
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(3) Using A from the previous problem, solve Av = (4,5, 1). . LV - (Z/ O/ ! ) ;
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(5) Find all cubic polynomials (these have formula f(z) = Az® + Bz? + Ca + D) whose graphs pass through the
points (0,1),(1,3),(—1,8). (here I use the term cubic to include the case A = 0)

flo)=1 = D
,F((): 3 = A+B+C+pD
_F(,.[):::g = ~A+8“C+D

(6) Let u=1[1,2,3,4] and v = [3,3,3]%. Calculate the following (if possible):
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(7) Let A = {2 1

0
0 Define f(t) = t* — 2¢+ 5 and g(t) = ¢t — 3 and calculate f(A) and g(A4). Also,
0 0 3
calculate the product f(A)g(A). Use the algebra you discover to find a formmla for A~! without resorting to

the sort of calculation you had to do in the first problem of this Quiz.
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(8) Let T(z,y,2) = (x +y — 22,y + 32). Find the standard matrix of
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(9) Let S(u,v) = (u+ v,u+ 3v, Tv,8u). Find the standard matrix of 5.
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(10) Let SoT denote the composition of the linear transformations in the previous two problems. Find the

standard matrix for S-T.

Q‘(xt) (2><3)



